Machine Translated by Google

Le minimum

#15482

PICHLER

Caractéristiques
envergure 2844mm
superficie 54,8 dm?
masse au décollage 2.0kg-2.1kg
la longueur du corps 1246mm
échelle 1/6

Remarques sur la construction :

1. Lisez les instructions avant de construire pour un apergu
obtenir.

2. Vérifiez que le kit est complet

3. Suivez attentivement les instructions pour construire le modéle.

4. Les piéces peuvent étre idéalement poncées avec un papier de verre de grain 250-400
pré-broyé.



Machine Translated by Google

PICHLER

étendue de la livraison

planches
Partie: marque Numéro
Balsa 1,5 mm B1-B4, C1-C10 38
Balsa 2.0mm A1-A7. H1-H4 20
Balsa 5.0mm D1-D3 3
contreplaqué de 2,0 mm E1-E6 6
contreplaqué de 3,0 mm F1-F2 2
Paulownia 2,0 mm G1-G2 2
contreplaqué de 1 mm 1
Paulownia 3,0 mm 2
S'offrir
Balsa 3*3mm dix
3*3mm Kiefer 5
Balsa 6*6mm 5
Matériel
Capot en PVC (avant) 1
Capot en PVC (arriere) 1
PVC Rohr (12*10mm) 1
Aluminium Rohr (10*6mm) 4
Charniéres (feuilletées) dix
Charnieres (colonne) dix
Vis M2*8 30
Vis M2*10 dix
Vis M2*20 2
Vis M3*35 1
Vis M3*25 4
M2 Schraubenmutter dix




Machine Translated by Google

Ecrou M3 1
M3 Zahnmutter 2
Tige de poussée M2 (25mm) 2
M2 Schubstang (250mm) 4
Ruderhorn 5
Rotule M2 dix
Aimant M5 * 2 8
50mm Moosgummi-R-Eder 1
divers
Plan de montage 1:1 2

Accessoires optionnels recommandés :

-GigaProp 6 #C8802/C8830



Machine Translated by Google

1. Gouvernail




Machine Translated by Google




Machine Translated by Google

g s[‘ﬁn.&ti

i
o |

AT AT




Machine Translated by Google




Machine Translated by Google

R6 4
A k ,

S5mm Balsa Blocks ™ i ="

L

a
T Sem—
4




Machine Translated by Google

A
~ o=

X} TXx-
‘SO & & & =

- XX

5mm Balsa Blocks =

& > ==




Machine Translated by Google

f . v

Smm Balsa Blocks

dix



Machine Translated by Google

11



Machine Translated by Google

12




Machine Translated by Google

2. Ascenseur

Etape 1

Etape 2

13



Machine Translated by Google

Etape 3

',

TR-6 TR-5 TR-4 TR-3 TR-2

.
a’.‘
-

2

Etape 4

14



Machine Translated by Google

Etape 5

Etape 6

15



Machine Translated by Google

Etape 8

16



Machine Translated by Google

Etape 9

Etape 10

17



Machine Translated by Google

Etape 11

Etape 12

18



Machine Translated by Google

Etape 13

Etape 14

19



Machine Translated by Google

Etape 15

Etape 16

20



Machine Translated by Google

Etape 17

Etape 18

21



Machine Translated by Google

Etape 19

Smm Balsa Blocks

Etape 20

These two parts located i




Machine Translated by Google

Etape 21

Etape 22

23



Machine Translated by Google

Etape 23

Etape 24

24



Machine Translated by Google

Etape 25

Remarques:

25



Machine Translated by Google

3. Piece maitresse de l'aile

Etape 1

26



Machine Translated by Google

27



Machine Translated by Google

Etape 5

28



Machine Translated by Google

Note that the outermost ribs are sloped

,
-

29



Machine Translated by Google

Etape 9

Etape 10

30



Machine Translated by Google

Etape1 1

Etape 12

PVC Tube

31




Machine Translated by Google

Etape 13

Etape 14

32



Machine Translated by Google

Etape 15

Etape 16

33



Machine Translated by Google

Etape 17

Etape 18

34



Machine Translated by Google

Etape 19

Etape 20

35



Machine Translated by Google

Etape 21

Etape 22




Machine Translated by Google

Etape 23

Etape 24

37



Machine Translated by Google

Etape 25

~

. M2*20 Screw

Etape 26




Machine Translated by Google

Etape 27

Etape 28

'S5*4mm Balsa Strips

A small piece

of scrap

39




Machine Translated by Google

Etape 29




Machine Translated by Google

Etape 31

Etape 32




Machine Translated by Google

Etape 33

i here for adaptation 1o servo




Machine Translated by Google

Etape 36

r

43



Machine Translated by Google

Etape 37

Cut the hinges approprniately, leaving a 6mm gap

Etape 38

44



Machine Translated by Google

Etape 39

Etape 40

45



Machine Translated by Google

Etape 41

Etape 42

Drill with a 1.5mm diameter drill




Machine Translated by Google

Etape 43

Etape 44

47



Machine Translated by Google

Etape 45

. — T
0 Use electronics to adjust the servo rocker arm to the N ‘ -

k.

Etape 46

Install the airbrake surface when the servo rocker arm 1o the max end point

48



Machine Translated by Google

Etape 47

Remarque du constructeur :

M2'8

Scre

rs:0n with spacer)

49




Machine Translated by Google

4. Ailes

Etape 1

Etape 2

T

" 4 .
-
-

5~
Overlap R8 and R9 Carefully

'

50



Machine Translated by Google

Etape 3

When assembled on a flat plate, W2 has 1. 5mm gap with (e lalsuiloce

A

'.:‘ e

77‘-: )';" 3
ey M

51



Machine Translated by Google

Etape 5

5 Y ™~
B ‘ -‘1
‘\. o

\(

52



Machine Translated by Google

Etape 8

Etape 7
> =’ TP T, “‘_.‘-
-~
e ’ -
-« % N —‘
r,l
; Iy
~ b
x" \ ﬂ - L] .;I\
" 1
y % \
L f < \, 1
R . ‘I“ |‘|
- - il 'lll
T "l I.l;
‘ \\ \
‘l)l
\
|\“ \L
- \ \\
i\ \
\\
R H

53



Machine Translated by Google

Etape 9

O Goe 3 NG oG, w,

Ty

Y N i .
(] ]

_‘

5‘
- - -
i |
k ] l. g
4 L]
- # LAt “ ."_
| e | ’.L.-', _.__"I -

Etape 10

54



Machine Translated by Google

Etape 11

Etape 12

55



Machine Translated by Google

Etape 13

Etape 14

56



Machine Translated by Google

Etape 15

Etape 16

57



Machine Translated by Google

Etape 17

Etape 18

58



Machine Translated by Google

Etape 19

Etape 20

59



Machine Translated by Google

Etape 22

Samdl the back edge of the WC-8 to a bevel

Before installing, sand the front
edge of the WC-5 WC-6 to a bevel

60




Machine Translated by Google

Etape 23

Etape 24

WC-5UP

’ WC-8UP

WC-

TUp

61



Machine Translated by Google

Etape 25

Etape 26

: Cut6*6mm BalsaStrips in half

62



Machine Translated by Google

Etape 27

Etape 28

63



Machine Translated by Google

Etape 29

Etape 30

64




Machine Translated by Google

5. Aileron

Etape 2

65



Machine Translated by Google

ALC-2

ALC series parts located in 1.5mm balsa sheet

66




Machine Translated by Google

Etape 5

67



Machine Translated by Google

Etape 7

Etape 8

Grind the bevel according to
the auxiliary line on the AL3

68




Machine Translated by Google

Etape 10

69



Machine Translated by Google

Etape 11

Etape 12

“lastic hinge

70




Machine Translated by Google

Etape 13

Etape 14




Machine Translated by Google

6. Coque |

Etape 1

Etape 2

72



Machine Translated by Google

Etape 3

Mini magnet 5*2mm

73




Machine Translated by Google

Etape 5

Etape 6

74



Machine Translated by Google

75



Machine Translated by Google

Etape 10

76



Machine Translated by Google

Etape 11

77



Machine Translated by Google

Etape 13

/4

7

3*3mm Balsa Strips

Etape 14

if the length is not enough, please splicing




Machine Translated by Google

Etape 15

Combine two 3*3 balsa stnps and sand them into a circular arc

Etape 16

79



Machine Translated by Google

Etape 17

Etape 18

80



Machine Translated by Google

Etape 19

81



Machine Translated by Google

Etape 21

This part located in 3MM plywood sheet

82



Machine Translated by Google

Etape 23

Etape 24

M3 Four Claws Nut
g |
1

o |

83




Machine Translated by Google

Etape 25

Etape 26

84



Machine Translated by Google

Etape 27

Etape 28

85



Machine Translated by Google

Etape 29

Etape 30

86



Machine Translated by Google

Etape 31

Etape 32

87



Machine Translated by Google

Etape 33




Machine Translated by Google

Etape 35

Etape 36

89



Machine Translated by Google

Etape 37

Etape 38

90



Machine Translated by Google

7. Coque Il

. e ]

=9 _9%

> 4
‘-'m " |

E;'Use Waler mist (or hot water vapor) to wet the outside

91



Machine Translated by Google

Etape 3

Smal peCes

of BALSA scrap in t

92




Machine Translated by Google

Etape 6

93



Machine Translated by Google

94



Machine Translated by Google

Etape 9

Etape 10

95



Machine Translated by Google

Etape 11

Etape 12

r T

96



Machine Translated by Google

Etape 13

97



Machine Translated by Google

Etape 15
—

Etape 16

98



Machine Translated by Google

Etape 17

99



Machine Translated by Google

Etape 19

\
m Balsa Strips

Etape20

These parts located in 1.5mm Balsa Short Sheets

100



Machine Translated by Google

Etape21

[T —

Etape22

the trailing edge

101




Machine Translated by Google

Etape23

a8
7% Gut off excess edies




Machine Translated by Google

Etape25

This part located in 2mm plywood sheet

Etape26

103



Machine Translated by Google

Etape27
| —

Bt 2 S

Omm Balsa Strips
Etape28

104



Machine Translated by Google

Etape29

Etape 30

105



Machine Translated by Google

Etape 31

v

b
|

Etape 32
J

106



Machine Translated by Google

Etape 33

Etape 34

107



Machine Translated by Google

Etape 35

G6 located in 5mm Balsa sheet

Etape 36

108



Machine Translated by Google

Etape 37

Etape38




Machine Translated by Google

Etape39

Etape 40

110



Machine Translated by Google

Etape 41

Remarque du constructeur :

111



Machine Translated by Google

8. Kabinenhaube

Etape 1

Please pay attention to the polarity of the magnet,
the magnet of this part should matcii the part F16




Machine Translated by Google




Machine Translated by Google

10*2mm Balsa Strips




Machine Translated by Google

Etape 7

115



Machine Translated by Google

Etape 10




Machine Translated by Google

Etape 11

Dyr fit the canopy, and make a mark

Etape 12

T'rim off the excess edges according to the mark
please leave an extra 2-3mm

17



Machine Translated by Google

Etape 13

S

=

SR &

!
B

118




Machine Translated by Google

9. Installation des accessoires

M248 Scre
(Version with 4

119




Machine Translated by Google

S— -

AR T

6*6mm Balsa Strip

120



Machine Translated by Google

. !Auxiliary Socket Tool

Emphase principale :

90 mm, mesuré a partir du bord d'attaque de l'aile

121



Machine Translated by Google

Wiag AL jef B 6l rrem [+ 5% of M Tl A ) 7.2 s (- 5% of MAL)
Waag WA @ (wtarv e J11 05 mem B AT) S gun d WAL W [ntarer 15995 mem @ LOMGLT mem
W S D000 mwn Tl Spen B0 00 rwe
Wy Arra SO4900 00 rarr ‘el Aca 410000 =t
W) Aot Rl 150% Tl Maguem 1 bpltm &

Statuiger Voaave (v, ! (48

Valeurs de réglage

ascenseur +15°
gouvernail +15°
aileron +25°15°

Vous avez maintenant terminé la coque du modéle.

Pour le revétement, nous recommandons le papier de revétement JAPAN Air de notre boutique.

www pichler de

PICHLER

Pichler Modellbau GmbH
Lauterbachstrasse 19

84307 Eggenfelden

mail@pichler.de
08721-5082660

122


http://www.pichler.de/
mailto:mail@pichler.de

